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B (700 ASZAIPHIS) ALSAHHIE 31 (710 2YHIB) FAHIE
M (712 F5H) F3H| S @ (201 YBrRYH|) Ypr2o| ol @)
=2 S| =
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700 A= ALHHIS 43,949,970 44,344,131 A 394,161
710 SHIE 43,212,470 43,606,631 A394,161
712 E==Hl 6,791,003 7,076,269 N285,266
200 =& 3l 4,445,614 4,723,967 N278,353
201 Br=2dd| 663,564 749,204 A85,640
01 AR 22|l 437,343 465,153 A27,810
O 2N2% Il
(35,000% x 32 x 128 )-(50,000% x 34%H x 12&) = 6,960
O H4% &M)I&H UM 242
(10,800,000& x 13])-(11,400,000& x 18]) = A600
O 24 ¢ 22K SAMcr22
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O +S2HEY 22F Y|
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